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<KREX 1> 4
B |<xmre> 4
A <x%fEEX3 > oW, EREORAEEICRT 4
<Question 1 > 4
B | <Question 2 > 4
(1) (f#2241) Have you ever been there? 3
(R 2) (fRZ545]) the golden color was natural 3
(F13) 4 3
(4] 1 3
(5] 7 3
2] (R6) (&) 27 %€ ORI LY BV 3
(7] How 3
GEY rb 3
(R 9) FREF) ATor E0k% KECHET S5 3
(R910) T 2
(F11) stronger 2
(R912) 7 ) 23
(1) o 2
1) | @ 7 2
(3) * 2
(F2) never 3
(1 (fi#22451) Because they could not get permission to travel. 4
@ (2) (fR%41) Tt means “never give up.” 4
1) (3) (fi#’&15]) Because they are proud of it. 4
(4) (fi#%&51) They feel wonderful. 4
) (AR41) Hanako and her grandmother did. 4
(6) | (EMHI) She thought that people in the old days saw their lives in sakura.] 4
(F4) (4 W) 10




